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?'clpllnu'~~iG ydx - xdy
Y2

= 2xdx

d(t) = 2xdx

Wi~nsmwoaitVi X
i =

x2+c

npso X = x2y+cy

x-x2y = cy ~~u~~uoJL~~l~JiJalu~Diojn73

IUlh =
dy
ii)

y - 2xyz
X
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dyy-xz =

y2-2xy %+x2 = x2(1+($)

yQxydy  = x2
dx

(y2- x’)dx  - Zxydy = 0

i&.qdmmisronrj01a’  &ur%Trp~Kl*~

1% Y = “X

dy = vdx + xdv

ttnufii~~~n” (v2x2 - x’)dx  - Zx(vx)(vdx  + xdv) = 0

(v* -- 1)dx - Zv(vdx  +xdv) = 0

(I + v’)dx + 2vxdv  = 0

dx-
X

+vj$dv =  0

On  x + Pn(v’ + 1) = PnC

Pn x(v’ + 1) =  e n c

x(2+.1) = c

n”so xi+y2 = cx
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PC&  Y)

A l ⌧

nrru’n’ I : Ad ( 1 )  = ; ~ufi (2)

s yclx =

0
; (XY  - j ;W

0

$dy = idx

n%

fen y = Pnx+tkC

1
Pn y? = Pn Cx

1

YS = cx

Y = cx3
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risk-ix 2 : i&6 (1) = 3 i% (2)

= 3 (~,6”,LM~Ua.l OAPB - &.Ad (1))

4 &?I (1) = 3 ih%hhJ OAPB

4 j;dx = 3xy
0

%41%4oa5Giro~t~ulJIn’LI  x  iY.3 2  <I9 a::cl

4 Y = 3y+
3x dy

dx

3x dy
dx ’

0

3Ldy  = !dx
Y X

3 Pn y = Pnx+PnC

In y3 = Pn Cx

Y3 = cx

(2) s,‘FIfJLlnuL~9~a

1x  P(r, 8)  LiYJwgmIo  “1 ¶JULhI& r =  f ( S )
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2. tan w = ;

w = ;0

tan w = tan :

r d0 0
;i;  = tan2

dr  =
r

c o t  ;dO

dr
-T =* Z(  --$dsinf)

sin -
2
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Pn r = 2 Pn sin [ + In C,

Pn r = Pn sin’  I +Pn C,

r = C, sin’  s

l&l r = Cal  -cos8) ( ‘: cos 8 = 1 - 2sin’  i  )
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dy
dx =

Mx, Y)

Mb,  Y)

Pn x
Y

= PnC,

X- = c,
Y

Y = cx
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Zxydx  - (x2- y’)dy  =  0

ydx’- x’dy+  y’dy  =  0 -

ydxZ - x2dy

Y2
+dy = 0

d(F)+,,  =  0

X2

Y +y
= c

X=iY= = cy

x2+(y2-cy+~j  = f

x= + (y- ;,= = !j=

,0wqRuoJ?JnR~SJ0gn~~~n~i~~~~~n~  y uardiug~rhih
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x’(  2y 2 - 4 x )  - (YZ- 2x7 (3x7 = o

X6

2x’y  $-4x4-3x2y2+6x4  =  0

Zxydx  - (2x2-3y’)dy  =  0
. .

2K Y = “X

srrK dy = vdx + xdv

2vdx  - (2 - 3v*)(vdx  + xdv) = 0

3v’dx - (2 - 3v*)xdv = 0

dx 2 dv+ldv  = 0--,-
X 3v’ ”

Pn x+ $v,+Pn  v = -Pn C

1
- -cPn  cxv
3vz

= 0

1
-++Pncx; =  0

3w’

X2
--,+PnCy  =  0
3 Y

x2+ 3yzrn  cy = 0
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I
I

A ’

0 x

tan 0 =

&I

c!Y  =
d x

dx =

X zz

Y zz

dy =

dy
dx

10 sin z

10 cm z dz
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unuhrlii X -s
10~0s~  lOcoszd7=
10 Sin z

cos=z  dz=
-‘OS sin

1 -sin’zdz= -‘OS  sin

oin

= -IO[lcoseczdz  - jsinzdz]

= - lO[  - Pn(cosec  2 + cot 2)  + cos z]

= - 10 cos z + lOPn(cosec  2 + cot 2)

Y = lOsin

Ptlti sin2 = u

&& cosz  = ziiq
1 0

10
cosec z = -

Y

JIOO-  y2
ttnufiio:Vi X = -JG+  1OOn  lo+-+  C

Y

tihti~o~d’j”  B UR%Yh x = 0, y = 10

ttnufiwtli c = 0

LdkltiNl@hJ?ln  A C  6  $I  ttU%lil  y  = 6

X = - JG+  ,opn  lo+$~-3~

= -8+lOPn3

x+8 =  l O P n 3

= lO(l.098)

= 10.98

X = 2.98

tttva.rh  tn’nrionu~~a~tii~~7npR  A LvilrYIJ  10.98 $3 twviiunri4uo~tio

VilJWl  AB 2.98 I+
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F = ma
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m dv
z

= m(9.8) - 92mC2v’
16

dv = 9 8 - 9~8C2v2
ii -16

dv
dt =

9;(16-C’v2)

dv’
16 - C*v*

= 9.8dt
z

dv 9.8 dt
C*v*-16  := -i-8

&&-
c*4] = -?$”

c
l Pll (EZ‘) = -4.9t+c,

Pn  (Ez;) = -4.Xt+Ft?K

c v - 4__ = Kc’-’
cv+4

HA 216 (s) 75



b&t = 0," = Oilr\d K= -1

V-50__ = _ e-o.78 =
v+50

-0.46

v - 5 0  = - 0.46(vt 50)

v = 18.5 Wl-bdfl?UlG

(2) 640 " = 30 B"c-h

30-50_ _  = .+-o.m
30+50

20
80

= -,-a  3%

-0.25 = _ e-0.39l

(e-'.34 = 0.25)

0.3% = - 1.34

t 1.34= = 3.5 Sealii
0.39
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W dv- -  =WwWVL
g dt 2 5

dv
ii

= (I-$?

dv
z =v  - 2 5

- ‘g8 dt

m!&&!!f-]  -E -?$dt

v-5 = s ,A1
6 (v  + 5)

5 -41V---e  ”
6

= 5(1+ 34’)

v(l- ;e-y = 5 (6 +5e4’)

!$6-5e4’)  = $(6+5e4’)

= 5 (6 + Se4’)

-6  - 5e4’
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= 7.  x 16000

3600

2800= -z
9

311 Qam’M
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m dv
dt

=  m g - k x

m d v  d x
dx’dt  =

m g - k x

mv  dv
dx  =

mg  - kx

mvdv = mgdx - kxdx
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m v2 kxZ+C1 = mgx-t ’

Y2 = Zgx-kx2+C
m

V2 = y&x-  !?!f  +“d
m

dT
dt

=  k ( T - 3 0 0 )

T+odT  =  k d t

Pn(T  - 300) =  k t + C

do t = 0, 1 = 370 Ptl!%l

Pn 70 = c

b&l  t = 15, T = 340 ‘X%-h

Pn40 = lSk+Pn  70

I5k = P”;

k =

SCM tn(T-300)  = (&Pn+)t +Pn70
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dQ Q
iTt = Ohso

3 =
Q

- &dt

PnQ = - $t+C

&I t = 0, Q = 60 &I&

Pn 60 = c
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nalu~u’uhvm  c o ,  Iuvb;oj  =
x

17.5x50x4

dx = 4.2x0.05 dt -
100

4.2(

3500dx = 7.35dt  - 4.2xdt

3500 dx =
4.2x-7.35

-dt ~

3500
- Pn(4.2x-7.35)  =
4.2

-t+c

i 0.2

LaJo  t = Op x = 100
-x3500  =  7

&kA Pn(29.4-7.35)

= =P,22.05
4.2

Tlrln” 3500Pn(4.2x-7.35)  = -t

4.2 22.05

Pn (4.2;2yo;35
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= - 1.2X10‘'t

4.2x-7.35 = 22.05  x e-l.z”o-3’

4.2x = 7.35 +22.05e-'~2"0-"

x = x + 22.05 e-l.2.1o-%
4.2 4.2

= 7 21 -1.2~‘0-~14 +qe
rz

LdQ  t  =  20Ul+i =  12OO%di

&&4 X =
f(

1 + 3e-l.2’10-‘x1200
>

= s (1 + 3e-‘-44)

= 3.06

cilLhLlJQm&~  =
3.06-x100  =
3500

0.09%
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dx

iii
UI (30~9(40-$)

dx

ii
= k(30&)(40-$)

= &k(50-x)(10(-x)

dx
kkdt

(50-x)(100-x)  =  2 5

&Pn(+f-f)  = &kt+C

da I = 0, .x = 0

il:ln”

P”; ( $ff ) = 12kt

1 0 0 - X--. x
5 0 - x

2e’Zk’

do t = 20, x = 25

elm” 7 5

zs
= &340k

plk = 3
z

&l5u ~ = 2(e24”k)i6100--x

5 0 - x

= 2q;,h

1 0 0 - x  = 2(~)~(50-x)

x-x[2(5)+]  = lot-q:,~ .

, I

x ( 1 - 2 (  y, = lOO(!-(yj)

lOO[  1 - ( + $1
X =

l-2( 9”
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loo[(  g* - I]
X =

( p=J-*

= wo-1)

o-2

= 50 ns'u

dQ
ii = Q

d_Q  = -kQ
dt k>O

(laiclio~nuiu~~nii7i  k wwlt-h  Q>OLLR:  d2 < 0)

dQ = -kdt
T

PnQ = -kt+C

60 t = 0, Q = Q. 6Jl.h

en Q. = c

i):lC PnQ-PnQ,  = -kt

Pn 2 = - kt
QO

Q = Qoeek’
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& t = 12, Q = (l- j& )Qu

&&4 Q  =  Qo(l  - &)+

= Q&99$

L&l t  =  1 0 0 0 5  PtrC
pwo

Q = QJ.995) ”
Q = 0.658Q,
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AF --
Y
I-_-

1

-i

R

L

(1)

1

-?

C

9 0

Rd!+  a
dt C

= E
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L$+RI = E,

,,t = L3 j e$,t

E R’
--OeL+C

= R

E R’
I = g+ce-7

da  t  : 0 ,  I  =  1, &&&  atvl%

I, = :+c

c = IO-;

arvi I = 2+(I,->)e-:’

= ?(, -e-T) + Ioe-F

t&l  t-+oo  ilrwh I =
Eo
ic

(2) mn L++RI = E
d t

3%+151  = 110 sin 12Ont
d t

;+51 = TI” sin 120nt

sin 120nt es’  dt
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= 110 5,  5 sin 12Ont  - 120n,cos  12Ont
Tr  ( 25+ 144OOn’ >

+ C

I = 7 ( sin 1207~;  J B;.zos  120nt 1 + Cc-S,

Lib t = 0, I = 0 l&h4

1 c = y ( 1 +y&’  >

i)~b%l 1 2 2
d

sin 120nt  - 24~  cos l2Ont  + 24nee5’=
1 + 576~’ >

2. d-Q + Q
d t 0.01

= 200em5’

dQ;+5Q  =

Q=

=

I0 s
es’e-“dt

1ot+c

10te.j’+  Cem5’

d&2
d t

d,(lOte“‘j
x

10(  - 5te-” + ems’)

10ee5’(1  - 5t)
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61  R  =  10  b3kJ  C  =  10“  Yh?@l E ( t )  =  1 0 0  s i n  12Ont  t&J  Wnl

( I )  Q  tdkllhdfi  Q = 0 Lib  t  =  0

( 2 3  l~“?lu~~‘uriit~~il I  =  d$ Hlfil  I  Ldflfi1Y\U”Ifi~l  t  = 0 ,  I  = 5 ttouullj
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dx
dt

x

dx- = kx
dt

dx- = kdtx

Pnx =

x =

x0 =

c =

X zz

2x, =

e5Ok  =

3x,  =

3 =

(3)5”  =

kt + Yn C

Ce”’

x ewe)

0

2

xOek’

e
k,

e
5Oki = (eSOk)’  = 2’

l o g  3-z 50-  z
lee  2

79 5
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IO4 = X,)(2)’

10000
xo = =s

= 125oGa
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